I I_II—II_‘ = — |

Hydraulic Torque Wrenches

TW-H120

Power Head Spare Parts List

28
Part No Description Quantity Part No Description Quantity
SPH120P-00 REPAIR KIT [7-8-9-10] 1 SPH120P-18 RETAINING RING 2
SPH120P-01 BODY ASSEMBLY 1 SPH120P-19 SWIVEL ASSEMBLY 360° 1
SPH120P-02 PISTON ROD ASSEMBLY 1 SPH120P-20 BALL 1
SPH120P-04 PISTON MOVABLE WEDGE 2 SPH120P-21 BALL SEAT 1
SPH120P-05 PIN 1 SPH120P-22 SPRING 1
SPH120P-11 SCREW 2 SPH120P-23 RETAINING RING 1
SPH120P-12 END CAP 1 SPH120P-24 NIPPLE 1/4" NPT 2
SPH120P-13 SCREW 4 SPH120P-25a 1/4" NPT FEMALE COUPLING END 1
SPH120P-14 SCREW 2 SPH120P-25b 1/4" NPT FEMALE COUPLING BODY 1
SPH120P-15 SCREW 8 SPH120P-26 SCREW 1
SPH120P-16 OIL INLET SHAFT 1 SPH120P-27 SPRING RETAINING RING 1
SPH120P-17 O-RING 6 SPH120P-28 PISTON CASSETTE CONNECTION PIN 1

£ www.torc-tech.com [ info@torc-tech.com

A Brand of Surkon International

IS0 9001:2015 DS:TWH-SP0125-EN



TW-H120 rOoRC | TeECH
Cassette Spare Parts List Hydraulic Torque Wrenches

Part No Description Quantity @ Part No Description Quantity
pH120c.07 | RIGHT BODY PLATE 1 SPH120C-07 | DRIVE PAWL 1
- [48-49-50-52-54-55-57-59-60-62-63-65-67-68-70-71-73-75-77-78-80-81-83-84- SR AIGAE | o SRR ”
85-87-89-90-91-92-94-95-97-99-100-105]
LEFT BODY PLATE ] SPH120C-10 | REACTION BLOCK EXTENSION 1
SPH120C-02 | [48-49-50-52-54-55-57-59-60-62-63-65-67-68-70-71-73-75-77-78-80-81-83-84- SPH120C-11 | BODY CONNECTION BEARING 2
85-87-89-90-91-92-94-95-97-99-100-105] SPH120C-12 | BRONZE BODY BUSHING 2
GEAR DRIVE BODY 1 SHROUD
SPH120C-03 | [48-49-50-52-54-55-57-59-60-62-63-65-67-68-70-71-73-75-77-78-80-81-83-84- 1
SPH120C-13 | [48-49-50-52-54-55-57-59-60-62-63-65-67-68-70-71-73-75-77-78-80-81-83-84-
85-87-89-90-91-92-94-95-97-99-100-105] 85-87-89-90-91-92-94-95-97-99-100-105]
SPH120C-04 | HOOK DRIVER 1 SPH120C-14 | DRIVE PAWL 1
SPH120C-05 | HOOK DRIVER SPRING 1 SPH120C-15 | SCREW M10 4
SPH120C-16 | SCREW M12 4
HEXAGONAL GEAR 1
SPH120C-06 | [48-49-50-52-54-55-57-59-60-62-63-65-67-68-70-71-73-75-77-78-80-81-83-84- <HFl S [SRIROLD EO o 2
85-87-89-90-91-92-94-95-97-99-100-105] SPH120C-18 | PIN 1

£ www.torc-tech.com X info@torc-tech.com A Brand of Surkon International

IS0 9001:2015 DS:TWH-SP0125-EN



